Using Brackets in Calculations

Insert one pair of brackets, if required,
into each of these calculations to make
the answer correct.

(@) a2 =3I A= 1] A
(D)5 EE 20X =9
(C)RENGDAIIESE—H])
(YO =2 > =]

(C)BROES T2 81— 6
(E)RE2 18 e =1 ]

Insert one or more pairs of brackets, if
required, into each of these calculations to
make the answer correct.

@RS OB L5 = 51
(b) 6+9+3+2=3

() 5+22-9x1=40
()RS OESGE  31="17
(e)md < 2i—3 1+ 5 X 6 = —40
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e

Insert one or more pairs of brackets, if
required, into each of these calculations to
make the answer correct.

(@SR D) < — 103

(b) 11-32+4+4=8

(B2 =65~ 2+5 =65
(d —-4+8x3%2-5+1=17
RERIOERE= 3250 = 1 = 24

By inserting up to two pairs of brackets
into the calculation shown, make as many
different answers as possible.

20—3+52—-4+2

e.

(@) 2+3x4=14

() (5+2)x7 =49
(©) 6><(3—1)=12
d 9-2x4=1

(@) 6+3-(2+1)=6
@) Alsge Ak

(@ B0-13x2+15=51
() (6+9+(B+2)=3
(© (5+F-9x1=40
d) 30-6+4x3=17

(e 4><2—(3+5)><6=—40

~—

@ 3+Bx2% =103

) (11-F+f+d=8

(©  2x[-& —{2+5=¢65

(@) (4+8xf2 -5+ 1=17
(&) (10+2-F x(a—1)=24

N

20 _(3+5)2— 4-2 = ~40
(20-3+5*-4)=2= 19
20_3_\.(59'_4')-‘2 =945




